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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1 RfrafRa # & frwd Tedw ==& B g = v serw w7 F g A

afEfda i o1 F@ar

The state of matter can be changed into another state by changing the:

Ans T

4.
Temperature

—_— | — -

Q2 37 faseT 7 T FT = Ffha sy & 2 £ FE F T

?

Select the option that can replace the ? symbol in the following figure.

Ans
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N
A
xs.é

Q3 = % #Ffea # e AT-HAw v F=fa # &
TF g &7

The Kochi-Muziris Biennale held in Kochi, Kerala is an exhibition of which
following?

Ans

X1

X2

The chemical formula of Sodium Carbonate is:
Ans X 1. Na;CO»
X 2. NaCO
/< 3. NaCO:s
v 2 NayCOs

Q5
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Ans

23 7T Fuw  FE Afav H Ao S F a7 Tt s
ek ®F & ITEROT HFT §

LC
W T FESE T W ORI # 7§ 7

forsed:

1. TR H WESaF T T gEee ot & e
2. TR F WESHE TR T GRS § @ a g3 9aE & 9t
SR daT A AR

Consider the given statement to be true and decide which of the conclusions logically
follow(s) from the statements.

Statement:
Public smoking has increased in the current year.

Conclusions:
1. Government should ban public smoking.
2. Government should create awareness about ill effects of public smoking.

aer TSRy 1 HFHIOT FIA E

Only conclusion 1 follows.

| el TS 2 IHTator FIe E
Only conclusion 2 follows.

JA A1 AR T @ 2 AR e g

Neither 1 nor 2 follows.

1 3 2 At swpRor @
Both 1 and 2 follow.

XL

x

X

v

Ans

wF A & IR ZIGZAGGING & AZGIZGNIGG & 7 # f@m Sarg ar 38

F= & BLIZZARDLY & &% far smeen?

In a certain code, if ZIGZAGGING is written as AZGIZGNIGG, then how will
BLIZZARDLY be written as in the same code?

v 1. ZZILBYLDRA
X 2. ZZILBIYLDRA
X 3. ZZILLBYLDRA
X 4 ZZILBYDRA

Q7

iz Y TEaTAT & OINUTSS St & AT FEr F a9 ¥ fF e S 8
TR 5w a¥ gEamr R e

The Charter of Liberties — popularly known as ‘The Magna Carta’ —was signed in
England in which year?

Ans
x 1 1415 £

1415 AD

5 1315 SET

1315 AD
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v 1215 ST

1215 AD

x4 1115 S

1115 AD

Q.8 I W e} = (Answer figure) 2w 1w w2 R (problem figure) #r wdr

I of S #2
Problem Figure
. A
4
Answer Figures
L] L]
[-Y A A A
o] [ o e
A B c D

‘Which of the given Answer Figures depicts the correct water image of the given Problem
Figure?

Problem Figure

A B ¢ D

Ans X' 1. A
X2D
vicC
X 4B

Q9 «H F 4 : 52 Fa W © H g Ak Fwe F e oo T 2 i

¥ ol Hiur fhaet & @ gem? Y

What would be the smaller of the two angles formed by the hour hand d the m;
hand at 4 : 52 p.m.?

Ans X 1.162°
< 2.164.5°
X 3.165°
v 2166°

Q.10 faTamT WReTsa 2T §F AR W Ry wRersa & 6T 396 87
Vistara airline is a joint venture between Tata Sons and which international airlines?

Ans STFUTHT
r oo Al
Lufthansa

2 E.
Malaysian Airlines

X3 fafeer vaas
British Airways
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fomR waerEE
Singapore Airlines

v

Q.11 T T T 1w A A TIE WA, oW 1 FRufersT ot fwd ager s &2

‘While releasing the arrow from a stretched bow, the PE of the bow is converted into?

e xllmtrﬁzsm‘r

chemical energy

aifars Far
kinetic energy

5 gty Far

sound energy

4.FIT‘Tﬁ‘I'

v

X

X

heat energy
—a—
QRRT T RTR RR A I T I F T FsR A FReE=ma R
FleT T FUF AT B

gfe LIKE GOOD HABITS I 126 %Iz f3am Smar § & HABITS & %13 &r
g
YA

1.1 LOVE PICTURES &' 785 &g f&ar =irar &1

2. THOUGHT BECOMES HABIT &I 856 #is far =1 #1

Consider the given question and decide which of the following statements is sufficient to
answer the question.

If LTIKE GOOD HABITS is coded as 126, then what will be the code for HABITS?

Statements:
1. ILOVE PICTURES is coded as 785.
2. THOUGHT BECOMES HABIT is coded as 856.

Ans X 1.
AT RITF 3T e & o T ar 1 3k 7@ 2 w3eg &

Neither 1 nor 2 is sufficient to answer the given question.
& 91T 99T H I & & TOT 3har 2 TS @ ofehel 3tehell 1 GATCT oA@r
gl
2 alone is sufficient while 1 alone is not sufficient to answer the given question.

X 3.
& 71T T F 3ec} & F v 1 3R 2 Q= g3 §
Both 1 and 2 are sufficient to answer the given question.

X 4
33 91T 99T F et 8 & [T 3ol 1 9T ¢ olfehel 31ahell 2 9ATCT oAgl
gl

1 alone is sufficient while 2 alone is not sufficient to answer the given question.

Q.13 AYASE F @R F1E AW W, FA W Fid & A 3T TET & F RAC
T & S
‘Which of the following is used to get relief when you have been stung by a honeybee?

Ars o, TR FH

' Common salt
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v &) ;
Baking soda
253, :
Acetic acid
ENR i )
Washing soda

X a.

Q.14 7ft el R & % mmq\w?sooﬁa‘rﬁm%%manqwm
2

Lf§ of a pizza costs T 300, then E of a pizza will cost:
Ans X 1.F 180
X 2.3 250
X 33225
v+ %270

Q.15 37 eeT & =T FY, = & 7 BT ATen A W A F TE
B e

An|lan]lan]lAan

~ ~N|AN
RAIRARIRAIA ?
AAIAN

Select the option that will correctly fit in the bl

AA[AA[AR[AA] -
Ans
NN
)
XLlAA
v | AR
A
X 3.
A N
p /Ah
Q16 qursh o 78y & ¢ W g &
On which river's bank is Panaji located?
Ans -
~,1.J=|1'5'el’r

Mandovi
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X 4.
Terekhol

Q1 ey WA i 72%, 90 g1 HEAT fFaer &2
72% of a number is 90. What is the number?
Ans X 1.120
v'2125
<3130
X 4124

Q.18 Frwfafea amr & w8 @ ge favffa R & @9 wrga saae 7 3 @a
T yeEw A # AR 7

T

6 a¥ # 3y ¥ Fraw Hr yRaTE FEH W

AT

1: 6 T8 & MY T FA FA B Fedr 3= g F FERT @ T F
2: F=wr 6 I & Y ¥ ugA o 7 FE F

Consider the given statement true and decide which of the given assumptions is/are
implicit. :

Statement:
It is desirable to start writing from 6 years of age.

Assumptions:
1: Fine motor skills are well developed by 6 years of age.
2: Children cannot write before &6 years of age.

Ans 1.
:rx#raag'mm IR 7 & A= 2 Rfge &
Neither assumption Tnor 2 is implicit.
Fae HgA 2 & g B
Only assumption 2 is implicit.
o T 1w 2 2 @ e ¥
Both assumptions1 and 2 are implicit.
el HA 1 & fafed g

Only assumption 1 is implicit.

. 2.

v

Q.19 69 F == FEN A W THFR Ji¢ B T AT S0 F g I v 37k T
TIT HIT &7 UG 483 @

Split 69 into three parts such that they are in A_P. and the product of their smaller parts is 483.
Ans X 1.19,23,27
X 2.17,23,29
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< 3.15,23,31
v'4.21,23,25

Q.20 3= AFET (Answer figures) # & WoF Fed & TUE W H AT TE

Ecociort
Problem Figure
A
e A H
/ Y ?
A B C D
Answer Figures
//-\ /’\\ / I\ ]
L) 4 NREIAR.
RN | — |
1 2 3 4
Choose the correct figure from the answer figures to replace the question mark.
Problem Figure
I/\\
A B C D
Answer Figures

A
| £ /mm
\ I__*__I / ’/‘/.\ \ / '\ )
~ |/ hdll\| — 4
1 2 3 1
Ans J13
X 21
K32
X4
Q.21 e THUGS B v s T oars 61 T &

T @& ¥ =S Revit i dEs F Fer 9]

The length of one side of a rhombus is 61 cm and its area is 1320 cm?.
lengths of its diagonals.

e a1 120 Féeex

120 cm

\,2‘122@5311121

122 cm

x 5 142 &R
142 cm

x4 71 TAHRET

71 cm

. &
Q.22 2017 &, 9I9uT & &7 # Iopse ANEH & T Feaauae I 3%
e TEET (IR, 7 G s s # R a9
TFFER ¥ weAAa fomar ar?

In 2017, which Indian scientist was honoured with the Living Legend Award by the
International Union of Nutritional Sciences (IUNS) for stellar contributions in the area of
nutrition?

Ans m #lga’lﬁ'
X1
Rohini Godbole
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3. o gFE
Tessy Thoms
| FEa= Cir=iy
Mahtab Bamji
X a. g l

Suman Sahaia

Q.23 T v/ A F9eA X # qout R ARt & 3w dtwd s gatar 2

Multiphe Bar ehart showing meen's and women's
Average Daily Farmiengs.
(in Rs)
% [ = Men (21 yeans and sbore)
Y = Women (18 yean and above)

~> Average daily 59.50
Eamings (R}

%

i sitae -

99 (21 ¥ AR 3ER 3f0)
Afgent (18 a9 3t zu@ 31R=)

RfYT 3o & s3mR w, FFw a§ gt &
Roe a¥ & geer # sfowaw o

The given chart shows men’s and women's average dail

Madtiple Bar chast showsag wcn's and woesen's
Average Daily Eamings

(in R}
] = Men (21 years and sbove)
= Women (1% years and shove)

=> Avemge daily
Earnings (Re.)

Year -

Average daily earnings —
Men (21 years and above) —
Women (18 years and above) —

Based on the depicted data, in which year was the percentage increase of the average daily
earning of men maximum over the preceding year?

ans of 1.2003
X 22001
X 32002
42004

Q24 Fgsat & forw sew eafar & smgfeaat & & e @ &2
‘What is the range of frequencies of sound waves audible to human teings?
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Ans X 1.16kHz & 200kHz
X 2.16Hz & 16kHz
v 3 16Hz & 20kHz
X 4 14Hz & 20kHz

Q.25 fameht ol # o & 54 3 wod A S T I F 72% F avE< ail
e A i A

In a test. Charan secured 54 marks that was also equivalent to obraining 72% marks. How
many marks was the test out of?

ans of1.75
X285
x3.80
X465

O e § § 3T UE F O

| 0*
’&
o(‘

0.02, 0.020, 2/100, 0.002
Select the odd term out of the following.

0.02, 0.020, 2/100, 0.002

Ans o' 1.0.002

% 2.0.020
x3.0.02

X 4.2/100

Q.27 == VWYOPONISFSLUDTGB1AJ &1 9219 &
9g AT F:I

&

9WA, OOD, , FD8
Using the expression VWY9PONISFSLUDTG61AJ, find the missi

following series.

9WA, 00D, .FD9

Ans X 1. NS|
X 2.|F5
X 3.FI5
v < NFL

Q.28
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Qp (11).html

A o Fya & FF AW g A v FRe B sed Biea w9 @ ala
T AFE e ST wEar 2

FA:
o R 3w &
Wi AyRE W 3R €
s
1. = w0 R ©
2. o AR @t AyRg T 2

Consider the given statement as true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:

Some teachers are rich.
All diabetics are rich.
Conclusions:

1. Some diabetics are teachers.
2. Some rich people are diabetic.

xlmawzmmm%

' Only conclusion 2 can be drawn

2
7 ar TRy 1 3k 7 & 2 Rerem S TFar &

Neither 1 nor 2 can be drawn

v 1 R 2 2t e ST §
Both 1 and 2 can be drawn

” Faer Ty 1 e ST Weam &

. Only conclusion 1 can be drawn

Q.29

Ans

T Fal A a5 X asfa # Reret o 45 fgadt §) afe 35 s s § A
FET H STSH! T &I AT HITT|

In a class consisting of boys and girls, there are 45 students. If three fifth of the students
are boys, find the number of boys in the class.

X 125
X 2.26
V' 27
X< 418

Q30
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Ans

Qp (11).html
frafaf@e ama w o= & aw vl 3 & Peof@a yaaea & 3 #a
wra e
CICa2 N
TR & TAS AT SAAGR @ H1 FI&T F AN § - TS IE F TAA
HFEIOT FoRAT ST AT T |
ST
1. 519 7% wEwe A P S, gEed =T & T F e 3o
Ageaqor a2t 1 foue & Sifder F §
2. il aee 9ET & farg P WEY & §F A Ageaqur gzt Hr
3TERTFHAT TEST

Consider the given statement and decide which of the following assumption(s) is/are
umplicit.
Statement:

You are expected to be honest before the advocate — an instruction to be followed in
front of a defence lawyer.

Assumptions:

1. Unless cautioned, the clients tend to hide certain vital facts to save themselves.
2. At times, the vital facts are required to strategies the defence argument.

| A 1w 2 gt & fafea €
Both assumptions 1 and 2 are implicit.

| et e 2 @ fafee B
Only assumption 2 is implieit.

| e 1 3R 2, 2 @ fafee =@
Neither assumption 1 nor 2 is implicit.

| e g 1 & TR R

Only assumption 1 is implicit.

v

x

X

X

O3 ifyer Fai foFmes aTeR 87

Ans

Mechanical energy is equal to:
= aifast F= + TErafEE e
1

" Kinetic energy + Chemical energy

Kinetic energy + Potential energy
x 3 IS ST + FHT FaAT

Kinetic energy + Heat energy
x4 Tt =t + fagga F=r

Kinetic energy + Electrical energy

v

Q.32 1y F FR AR AeEg T F v e F 3w Fw Fem S 3

Ans

Which of the following is added to iron to make iron hard and strong?
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Q33122 + 345 - 3 + 1116 x 372 & A ¢
The value of 122 + 345 -3 + 1116 x 372 is:
Ans  of 1. 466
< 2. 469
< 3. 446
X 4460
Q3 g X Y 7% # tHg A I TT @ E 5@ A e &, ¥

o T=d ¥ X F Hg B R & w2

In the moming X and Y are walking towards each other in a
shadow falls upon X. In which direction was X facing?

Ans I

Q.35 ek B Y 5 H 5 fRere G gl el & HR A HaR 9T 6 9 9 a8 wHaA W /e
& AT Y| I START Wal HHY e @

A watch loses 5§ minutes every hour and was set right at 6 a.m. on a Monday. When will it
show the correct time again?

ps 37eTer (AR 9T 6 ¥
v

6 a.m. on next Sunday

, HeTel HIAER S 3 &Y
3 a.m. on next Monday

| el Tea e 3 &)
3 a.m. on next Sunday

, 3T WIHER 1eT: 6 &=F
6 a.m. on next Monday

x

~<

X

Q.36
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2017 ¥ AT # smrgafa 7 & fw giw sefeER #F
‘Who was the UPA candidate for the Vice President’s post in the 2017 elections?

Ana _m‘-‘ritfr

Q.37 37 3ca¥ AT (Answer figure) &1 = &{ 3 T 71T 727 & (Problem
figure) & Rog TuTe & T T o I TFAT ¢

Select the Answer Figure that correctly fits in the bl
Figure.

B c D

Select the picture which does NOT belong to the group.




9/14/2018 Qp (11).htmi
X2D
X3.C
v A

Q.39 m| kg FSTATA TSN T TSN & &I T 57GeaA &l T ot 9 T§ 10 ms 2
& TEOT ¥ AT qEAT & | m kg FSTA AT UF el GGAT WA a9 A1)
A T 20ms™ F TOT W AR el §) I A T Y TH G F TS

g Rar oe 3R 39 9 A a9 omar e, A caeer Bhaar gem?

A wooden block of mass m; kg accelerates at 10 ms~2 when a force of 5 N acts on it.
Another block of mass m» kg accelerates at 20 ms™ when the same force acts on it. If
both the blocks are tied together and the same force acts on their combination, the
acceleration will be about:

Ans Jl. 6.67 ms—z
X 2.1.67 ms2
X 3.567 ms2
X 4 467 ms2

U Prafaf@a & & T @1 Fua 9 82
Which of the following statements is INCORRECT?

Ans xl_
TTATY] R TR & A 36 agar 1T gl

Atomic size increases from top to bottom.

X 2
T & TAg & Wi I Fr T U GAE g &

All the elements of a group have same valency.

v &
TF T & Wit FHREMES F 0F & GAg J I8 ST e

Isotopes of the same elements are placed in the same group.

X a.
agATy] Bar 3 |l AT g R g S 7

Atomic radius generally decreases from left to right.

Q4 27T g L
/| _
724 5{15 +12- 9 +6-5+7)} =?
Solve the following:
1 M
72 + 5{15 +12- (9 + 6-5+7)} =?

Ans o 1. B
xX29
X512
X448

Q42
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o gt & ¥ Fia O gE 39RAET g2
Which of the following numbers is irrational?
Ans X 1.3/64
n 2 \/'6_4
X 3.%/64
v {62

Q.43 T TS s H FRNHN F IOT F Bled W GAHT el &7

A girl child has which of the following combinations of chromosomes in her cells?

sy 44 TG 4XX

44autosomes+XX
, 22 oA +XX

22autosomes +XX
5 44 AURTA +XY

44 autosomes +XY
, 22 oA +XY

22autosomes +XY

X

X

X

—
Q.44 g WiET F FFrelator ¥ wel Hr yAvg AR, AN F |
The percentage of water of crystallisation inwashing sodais .
Ans X' 1.1.80
X 2.37.06
X 3.10.6
v 629

QA RT I Ra R AR A IR AT I F T m s a FsRe = a
Fa T Fua T §

3 aaTtaEt #r g wEm e 7

HYA:

1. F AT AT T 30% TSI HE

2. AT AT A

Read the following question and decide which of the given statements is/are sufficient.

What is the total number of illegal immigrants?

Statements:

1. 30% of the total illegal immigrants are from Bangladesh.
2. Remaining are from India.

Ans Xl»
137%par & ST &, SEle 2 3her W #T 3o} & & fovv yoitm @ &

1 alone is sufficient while 2 alone is not sufficient to answer the question.

X 2.
9o FT 3R 3 & v 2 3k 1 S e &

Both 1 and 2 together are sufficient to answer the question.

Vs
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A F IR A F v aar 1 3 7 & 2 g3 g

Neither 1 nor 2 is sufficient to answer the question.

X a.
237 & Tacg &, SEfH 1 FFer YT FT 3ca & & f@v AT 7@ £

2 alone is sufficient while 1 alone is not sufficient to answer the question.

Q.46 37 FTelr W@F FieT § TE T 2017 F 313 FRES [eER Shar?
Who is the Bengali writer who won the 31st Moortidevi Award for the year 2017?

Ans -
v TEaTT

Joy Goswami
x 2 TTAT AT
Taslima Nasreen-
3 o FgrTeITT
Subhro Bandhopadhyay
& geER
X a.
Baby Halder

X

Q.47 & 1§ WOl F HUR W FAT B 2001-2006 Fr Ay & @lve a7 & ufd
¥ fraat wfaere (eeesr Qe #) #1 3fz g2

g F A

A |weE || v

2001 (¥ 1,500 (% 200 | ¥ 500 |¥ 100
2002 | 2,600 (T 300 | ¥ 600 | T 200
2003 |¥ 3,200 (¥ 150 | ¥ 700 | ¥ 150
2004 | T 4,100 (¥ 250 | ¥ 650 | 125
2005 [X 5,000 (T 200 | ¥ 800 X 150
2006 |¥ 5,200 (¥ 100| ¥ 750 |X 175

|l

Based on the given table. the percentage salary increase per year during thie period 2001-
2006 was (round off to the nearest integer).

Items of Expenditure

Salary |Feood |Medicine | Tax

2001 | Z1.500 | 200 | %500 2100
2002 | 22,600 [ 2300 | T 600 2200
2003 | ¥3.200 | 150 | T 700 2150
2004 | 4,100 | 250 | %650 %125
2005 | ¥5.000 | T200 | T 800 2150
2006 | 5200 | 2100 [ T 750 TGS

Ans X 1. 248
v 247
X 3246
X +. 245

Year

Q48 NaCl TsF FGUT §, Y ST &-
NacCl is a salt which is made up of:

. Xl’mmaﬁtﬁam p=

Strong acid and weak base
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x> e AT HR AT ER &
Weak acid and weak base
V> dearaik dw em &
Strong acid and strong base
o e AR i am @
Weak acid and strong base

Q49 = wHg # 5 AW T wemsdt & w15 § Jafk wag & wh 13
wEaTHEt @ Ea 17 31 w9 92 8 wEnsdt & stwa

The mean of the 5 smallest numbers from a group is 15 while the mean of all the 13
members of the group taken together is 17. What is the mean of the § largest numbers?

Ans X 1.18.50
X 2.17.75
X 3.18.75
v 21825

Q.50 A 3R B et T FF #1 10 RN & & T &1 IR A 33 F Fr Hhall
15 R&A & X TFar &, A B 3% 3@ I 3 fraw Rt F X o 22
SRIFT T F g FA & fw or A Ry 7w | 5% FEeEn aiud
£y
A) B TH RT W FT L-L

10 15
BANRBFEwRAFT T L INAF & RA@ad .
C) B && & 3&em 30 R & 57 wFar &
D)Ba:rua?ﬁ.:ra:rm%m

A and B together can do a piece of work in 10 days. I’ A can do the work in 3 days, find
in how many days that B alone can do the same work. Given below are the'steps involved
in solving the above problem. Arrange them in sequential order.

g% jgLeecl
A) One day’s work of B is T

B) One day’s work of A and B is % and one day’s work of A is. %
C) B alone can do the work in 30 days
D) One day's work of B is %

Ans o1 BADC

< 2. ABDC
X 3. BCAD
X +. BDAC

Q.51 3resrer Fr Al FA T 9,600 §| FHHT ATTHSH Wl IS HT H 60% | I AIfAF
Fud el 82

Akash’s monthly income is ¥ 9600. His monthly expenditure is 60% of his income. What
is his saving per month?

Ans of 1. F 3,840
X 2. 3,870
X 3.¥ 3,940
X 4% 3,850

Q52
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#r Rw 1w Apeat A T @afoT 30eRT &1 aIT L

VMR : ZIS :: AKT :

Select the related letters from the given alternatives:
VMR : ZIS :: AKT :
ans X 1 HIR
X2EOU

X3 FHS
v+ EGU

Q.53 &1t & 7T TAF FPh F HIA T AN FHT FH AT WHF FAZC | 5
TE ¥ T A AT T &

XIM]5
ZIXI
]

9

Use each of the below figures only once and form three groups. The three gro

XVE
Z| X1

BN
Ans X 1.(1,4,3), (2,5,6), (9,7,8)
X 2.(1,2,3), (4,5,6), (9,7,8)
v'3(1,2,6), (4,5,3), (9,7,8)
X 4.(1,2,3), (4,7.6), (9,5,8)

Q54 e v = #F P $ T # qiw a1 BT

/N

Select the option that represents the number of triangles in the given figure.

/N

Ans X' 1.14
v215
X313
X417

Qs ( ) ‘




9/14/2018

e g wRd fRreT & 2017 # R e &0 & 750 39 &1 SR
HaTem?

‘Which former Indian cricket player has taken charge as the Indian cricket team’s head
coach in 2017?

Ars % 1 foere fg a3y
Bishen Singh Bedi
Heirel AMEFHT

. T
Sunil Gavaskar

s I emer
Ravi Shastri

o o, e g
Chetan Chauhan

Q.56 ¥=fr, efimel & 3@ & wefiw ¢ 5% ‘g%, & wefoE 2

‘Battery” is related to ‘Terminals’ in the same way as *Magnet’ is related to

. xlluﬁm‘m

Repel
V23T

| 3o forem #r 3R W
Pointing north
x 4 HTREOT

Aftract

O e F ¥ AwE F 3rerer w4
Pick the odd one out from the following:
Ans m’
v
Glass

N2 [

Aluminum
PIC]
Silver
GICI

| Copper

x

X 3.

X4

Q.58 Fdeh (aFd gl & ATH H a&oT ar gl
tissue changes the diameter of a blood vessel.

Ans x 3 m
Heart
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v ArEa
Muscle
S R
Epithelial
X a. 33?[

Bone

Q.59 &y ursd A HN B Tk 3 &l paw: 25 fAde AR 3 5 & s weoka & AR I c e
ot wfey fiere @relr 3 waha §1 A At urel wr v Ty gefers s Srar g, @
% 15 fme A sw AT &1 & 1 enfa v s

Two pipes namely A.B can fill a sump in 25 minutes and half an hour respectively and a
pipe C can empty 3 gallons per minute. All the three pipes working together can fill the
tank in 15 minutes. The capacity of the tank is:

Ane 450 1T
v
450 gallons

2 300 e
300 gallons

x 3 240 e
240 gallons

4 600 e
600 gallons

Q.60 =T # ¥ 7 T F A9 W T T
Which of the following quantities remains constant

dofel
K Weight

X4
Gravity

Q.61 Fl7 T 37 3w fasAtatad dot 1 T Grafefted Fam &

Fellead, HRa, TRET
Which of the following Vena diagrams correctly represents the following classes:

Karnataka, India. Asia
Ans

X1
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v &)

X 4.

o6

Q.62 3Rl & 3 39gFd Tl F IAA H{ O I FFF ¥ A & T 3w
ST & HRT & TW AT & S AT A e

_VWW_UUV_WVUU_W

Select the appropriate combination of letters that when sequentially placed in the gaps of
the given letter series will complete the series.

\ D °

_VWW_UUV_Wvuu_w

\

Ans uvwu

X1 B @

V2 uvwy o
uvwv

i X\

uwvu ‘

VWUV

K vwuv o

063 Fersdt F 9T A ATOT T

In human beings, the respiratory pigm

0

A o FRIRITheT
' Chlorophyll
B Folferat
Melanin
o TSIT& (Rhodopsin)
Rhodopsin
v l

| Haemoglobin

48 x (5-(-2) x (-3)}=7
8x{5-(-2) x (- 3)}=?
Ans X' 1.8
< 2-168
<388
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Vi_8

Q%5 56, 140 3R 168 & #.H. e &2
The HCF of 56, 140 and 168 is:
Ans  of 128
X227
X314
X4
Q.66 2 T FreTerT 3% q, HN q, & FGE F FO QI R W | §Fh AT HTAF

3T QT ¥ A R A 1/5 Fr FA Hr N, A F T e e gem

Two particles with charges q, and q, are Kept at a certain distance to exert force F on each
other. If the distance is reduced to one-fifih, then the force between them is:

Ans X 1.F/25
X 2. 5F
X 3. F/5
V4 25F

Q.67 &rfr engadt & wgfaw wad @il # FT ¥ wRg F @
Alkali metals are assigned which group in the Modem Periodic Table?

Ans 1WW

X
Second group
X 2 Wie
Eighteenth group
X 3. e
Third group
v e
First group

Q.68 TF wEH 120 FEA AR & TS 0 F 2 HeX Y FAE T% 3ol g1 30H

I foRar s S fRaam &7
A boy raises a box with a weight of 120 N through a height of 2 m. The work done by

him is:
Ans 60 ST
1. o
60 J
120
2. 120
120 J
240 el
v A
240 J
180
180T
180 J

Qs : ]
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T AT T G 3 25 facznfit & it @ 3ird 60 &1 afg T5er 13 fagnfai &
371 1 T 70 AR ATAH 13 @il & 37 1 AT 50 &, At ANA FH A
A gl W AL G & 37 37d HIfSIU)

In a class when a test is conducted, mz2an of 25 students marks is 60.1f mean of first 13
students marks 1s 70 and mean of last 13 students marks is 50 find the marks of the
middle student when arranged in the sscending order.

Ans X 1.70
X 240
X 3.50
v 4 60

Q.70 T W ARET FEReH HUAT 2016 ¥ giehr 3 ey i oY wr=is 87

Which Indian Maharatna Company has been the title sponsor of Hockey India League
since 2016?

e s st ERE ()
Gas Authority of India (GAIL)

X 2.

TSET U Ura HraRe (T893

National Thermal Power Corporation (NTPC)
o 3391 ffes (d@ramoa)
Coal India Limited (CIL)

X 4
dof AR wrpfaes 3w 9@ (e SirE)

Oil and Natural Gas Corporation (ONGC)

Q71 k T AT AT HITAT, TorTes oI g aEma T=iaor
42 + 4\3x + k= 0 F A TAE|
The value of k, for which the quadratic equation
4x? + 4/3x + k = 0 has equal roofs is:
Ans }( IRy
,l. 3
<32
X 423

3Q.72 15 @rer "ger AR, Best & 3 7ar ad off| 3R A 3y @ AT 94 99
31 e 3w oo a8 37

15 years ago Cynthia was thrice as old as Brittany. The sum of their present ages is 94
years. How old is Brittany now?

Ans
x1 33 I¥
33 years

, 3298
32 years

X
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s, 30 I¥
30 years

i 31 I§

31 years

Q.73 faeft 39aleT v 91T Wi F 6160 F A9, Tl 1 Fo I Tgel 565
ZERT = s TR ¥ 44% FA TR 9 g% Bl AT 5% TH o F
T =7 By fAg 9 d=9ar Tz a

By selling a used phone for ¥ 6,160 Rajan got 44% less than what it cost him to buy it a
few years ago. At what price should Rajan have been able to sell it to make a profit of
5%?

Ans X 1.312,550
v 2.311,550
X 3.312,000
« 4.310,550

Q74 7ex & N F urm I arew Ipor vl # ¥ Fa @ d g2

‘Which of the following characters is recessive in a pea plant?

Ans 71 Ejl,ﬂa'l'{' &=
Wrinkled seed
X 2. Ul
Green pod
X3 ST Folr
Round pod
X 4 @irer st

Round seed

Q75 wadl 2018 T 39eled TSN & IFUR FA & o T collfasted TE
F emet Hia 2

Who is the Chairman of the Film and Television Institute of India as of February 2018?

Ans ST ver

" Jaya Prada

&, T fery

- Anupam Kher
e ashadt

o
Mithun Chakraborty
ST S=<ed

4.
& Jaya Bachchan
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